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gbz2018000000000 A=B+C 3,186.80 571.88 2,614.92
oo ooobood B 2,114.72 407.48 1,707.24
oooooo C 1,072.08 164.40 907.68
gbz2019000000000000 D=E+F 645.00 122.50 522.50
oo oobood E 266.00 82.81 183.20
oooooo F 379.00 39.70 339.31
gbobodgobz2o01900000000000 G=H+1 645.00 122.50 522.50
oo oobood H 266.00 82.81 183.20
gooooo I 379.00 39.70 339.31
gbz2019000000000 J=K+L 3,799.04 632.51 3,166.53
b0 oobood K 2,348.05 458.41 1,889.64
goooog L 1,450.99 174.09 1,276.90
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1 gogn Oo@Eoooooog) 0.00
2 gognd g 0.00
3 gogd g 0.00
4 gooo good 0.00
5 gooo good 0.00
6 goon goood 0.00
7 goon gboboobon 0.00
8 goon gooo 0.00
9 gogn go 0.00
10 gognd g 15.00
11 gogd g 0.00
12 goon 0o 0.00
13 goof good 0.00
14 gooo good 0.00
15 goon gbooood 0.00
16 goon goooboood 0.00
17 gogn gbooboon 0.00
18 gognd g 0.00
19 gogd 0.00
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